Thu, Nov 14, 2019 MATH 450A Quiz 8

Name: (print)

Each problem is worth 2 points. Show all your work.

1. Compute ST(f, P,) and S~ ( f, Py) for the function f(z) = z? defined on I = [0, 1], where
' P, is the partition of I into n intervals of equal size. Show that
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2. If f is strictly increasing on I = [a, b] show that S*(f, P') < S*(f, P) where P’ is any
refinement of P. [Hint: Consider the case when P’ is obtained from P by adding a single
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3. Suppose that f is a bounded function on I = [a b] Let M = sup f and m = inf f for
z € I. Also, define M* = sup|f| and m* = inf | f| for z € I. Show that '
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